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Distance
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Number Line

Coordinate Plane
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d= \{{1'2 — x4y )2 +(y, —¥1)?

Fractional Distance

(3)

Number line

Coordinate Plane
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x=x + (x3-x1)
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Examples 1and 2

PG: 417

Use elimination to solve each system of equations.

Lx+y=2
—3x + 4y =15

4. 6x+ y=—39
x + 2y =—15

7. 3x + 4y = 29
6x + 5y = 43

10.4x + 7y = —80
3x + 5y = —58

2. x—y=-—8
Ix+ by =16

5. 2x+ By=1
4x + 3y =1

8. Bx+3y=4
—7x+ 5y =-34

M 12x—3y=-3
bx + y=1

1)Solve systems of equations by eliminating a variable using multiplication and addition

3. x+5y=17
—4x + 3y = 24

6. 3x— 3y = —6
—5x + 6y = 12

8. 8x +3y=-—7
Ix+2y=-3

12. —4x+ 2y =10
Wx +3y=8



*®

KJ‘J 1)Solve systems of equations by eliminating a variable using multiplication and addition.
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2)calculate measures of line segments

PG: 573
Exampls 3
Find the value of the variable and YZ if ¥ is between X and Z.
W0 XY= YL =4c XZ= 83 N XY=6bYZ=8BbXZ=1T%
1R XY=Te YZ=5a0. X7 =060+ 24 1BV XY=55¥YT=2c XZ=89
M. X¥Y=58n YZ=2n XZF =91 B XY=aw. YZ=06w XI=12w—8
6. X¥ =114, YZ=90 - 2. XZ=5d+ 28 7. X¥=4an+ 3. ¥Z=2n—-7T XZ=20
B XY=30-4. Y=o+ 2. XZ=5a+ 22 VW XY=3k—-2 YZ=Tk+4 XI= 4k + 38
200 XY = dx. ¥YZ = x. and XZ = 25 2. XY =4x. YZ = 3x. and XZ = 42

22. XY =12 Y2 =2x and XZ = 28 23. XY = 2%+ 1, Y2 = 6x, and XZ = 81



2)calculate measures of line segments
@ PG: 573
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3)Solve linear equations by graphing systems of equations.
PG: 395

Exampies S and &

Graph each system and determine the number of solutions it has. If it has one
solution, determine its coordinates.

MN.y=-3 12. y=4x + 2
y=x—13 py=—2dx—4

1. y=x—56 4. x+y=4
y=x+ 2 3x + 3y =12

5. x—y=-—-12 6. 2x + 3y =12

X+ y=12 2x —y=4



3)Solve linear equations by graphing systems of equations.
o PG: 395
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4)Find the distance between two points on the coordinate
plane. PG: 581, 582

CXaMpOse 35

Find the distance between each pair of points.

Lesson 10-8 - Distance 581

24. Af2, &), M(5. 10} 25. R(3.4). 7, 2) 26. X(—3. 8). £[-5.1)



0
) 4)Find the distance between two points on the coordinate
o plane. PG: 581, 582
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5)Analyze figures characteristics of adjacent angles, linear
pairs of angles, and vertical angles PG: 621, 622

Exampie 3
Refer to the figure.

12. Name two adjacent angles. Sample answer: ZMON and £ NGOR

13. Name two vertical angles. Sample answer: £SRQ and £ TRP

14. Find mZ£5SUV. 1227

Find the value of each variable.

15. 16. T T7.
120° 2P (2x + 25)° /:,

e
(2x — 10)° T ‘/ (3x —10)°




Az 5)Analyze figures characteristics of adjacent angles, linear
Mo pairs of angles, and vertical angles PG: 621, 622
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6)Calculate surface areas and volumes. PG:664

16. GEOLOGY A tionkeng is a sinkhole with nearly vertical walis.
The Tianpingmiao tiankeng s approdimately cylindrical with

a diameter of 180 meters and a depth of 420 meters.

a, If the top of the tlankeng |s open and plants can grow on
the boltom and skdes, what is the surface area available

for plants? Round to the nearest square meter. 262,951 m*

b. What is the volume of water that could fill the Tlanpingmiao
tlankeng? 10687698 m°

Example 5

17. The model of a roof is in the shape of a sguare pyramid, as shown. if the
surface area of the model is 64 cm?, what Is the slant height? 3.9 cm

18. A candle = in the shape of a pyramid. The volume of a candle s 27 cubic
centimeters and its height i 6 centimeters. Find the area of the base
of the candle. 13.5 cm?®

19. A disposable cup i= in the shape of a cone, as shown. The cup has a
volume of about 48.8 in?. What (s the radius of the cup to the nearest

inch? 3 in.

LT o L LTS



/Lv 6)Calculate surface areas and volumes. PG:664
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7)ldentify points, lines, and planes PG: 565

Practice ) Go Online You can complete your homework online.
Exampia 1
Refer to the figure for Exercises 1-7. F

1. Name the lines that are only in planea ().
2. How many planes are labeled in the figure?
3. Mame the plane containing the lines m and [.

4. Name the intersection of lines m and 1.

5. Name a point that is nof coplanar with points A, B,
and C.

6. Are points F, M, G, and P coplanar? Explain.

1. Does line i intersect line 7 Explain.




/Lv 7)ldentify points, lines, and planes PG: 565
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8)Solve systems of equations by using the substitution method PG : 403

Fraf:tij:E E Go Onllfg You Can Compie wour RoMmework online
Examples 1-3
Use substitution to solve each system of egquations.
1. y=58x +1 L2 y=4x+5 3. y= 3k — 34
4x + v =10 2%+ v =17 v=2x—h
4. y=3x — 2 8. 2x+y=23 6. 3x + 4y =—3
y=2x—05 4x + 4y =8 ¥+ 2y = —1
Ly=-3x+4 B. —1=2x—y 9 x=y—1
Gk —2y=—8 Bx — 4y =—4 —x+y=—1
0. y=—4x+ 1N M. y=-—-3x +1 12. 3x + v =—5
Ax+y=9 2% +y=1 Bx + 2y =10
13. Bx—y =05 4. 2x+y =4 15. —Sx+ 4y =20

—x + 3y=13 —2X + y= -4 10x — By = —40



KL'J 8)Solve systems of equations by using the substitution method PG : 403
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9)Solve systems of equations by eliminating a variable using addition. PG: 409

Use elimination to solve each system of equations.

1. v+ w=7
v+w=1

4. 5m—2p =24
3m +2p =24

L Bbc—9d=mM
5c — 9d = 103

10. 3/ + 4k =235
Bf —dic = 4

1B. x—y=
X+y=23

2 y+r=4
y—Z=8

5 o+4b=—4
a+10b = —16

8 MW+ 14g =13
W+ 10 =25

1. —3x — By = —24

3x —hy =45
N —x+y=1
x+yv=1

3.

12.

15.

—4x + 5y=17
4x + by = —6

Gr—6l=56
3r—6t=15

9y + Gy = 78
Ix — By = —30

Gx — 2y =1
10x —2¢y=5

¥x+4r =1
x—6y=1



(’L'J 9)Solve systems of equations by eliminating a variable using addition. PG: 409
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10)Apply the definition of congruents line segments to find missing valuesPG: 574

Example 5
Find the measure of each segment.
28. MO 29. Wy 30. FG
46 cm
&\1‘\.\"\. — 8.8 mm —— - 16.8 cm |
I s . =» | e . L.gp L 9 |l s
O W Y X F G H A K
3. ar 32. OF
- -14.4in. = x+71 4x—3
*—————1—— & } & } &
I ) R 5 F E D
33. UX
“ } & : o - o
L Vv (1 X



/’Lﬂ 10)Apply the definition of congruents line segments to find missing valuesPG: 574



11)Find the length of a line segment on a number line. Pg: 573
E-E-E! Ondine You can comblets wour hameavwork anline.

Practice

Examples 1and 2
Find the measure of each segment.

1. PR 2. EF 3. JL
;““*5_3 mim 0.35 cm
.ﬁ" ""--._1| D‘.?El cm I
3.7 mm > i K L
4. HJ 8. AC 6. 5V
H 1-E‘ Tl C. _'1 'r-'_.-—-—-'-_-_-.lII
T J311t i 1:__":__-"'4;—#’#"’%
12.2 #t K B Y, 2.6in.
""'"'---.|| A 5
7. NG B. AC 9. GH
1in. 1+in,
3 " 49an _ 52em F 97mm G H

- ® . -
G P N A B C p—15 mm ——



KJ‘/ 11)Find the length of a line segment on a number line. Pg: 573



12)determine the number of solutions of a system of liner equations. PG: 395

E Go Online You £an complais your Bamewark online

Practice
Exampies 1 and 2
Use the graph to determine the number of solutions the system = TF 7
has. Then state whether the system of equations is consistent or R TVTD
inconsistent and if it is independent or dependent.
Py — .
1. y=x—1 2. x—y=—4 L %
y=—x+1 y=x+4 T {2 — 2y =73]
I | | =
=_—£+q
[k=a-1 ANEEE.
3. y=x+4 4 y=2x—3 _ [y=2x = 3]
2x — 2y =2 2 —2y=2 y L1

Examples 3 and 4
Determine the number of solutions the system has. Then state whether the system
of equations is consistent or inconsistent and if it is independent or dependent.

5. y=zx 6. dx — By =12
y=k+2 —2x + 3y=—6

T. Bx— 4y =16 8. 2x+3y=10
—5x — By =5 dx + By =12

9.r=—%n+5 0. y=x—3

y=—%x+5 y=—4x+ 3



0
(,Lu 12)determine the number of solutions of a system of liner equations. PG: 395
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13)Find a point on a directed line segment on a number line that is a given fractional
distance from the initial point. PG: 347

2. N+m=z=15 22. h—26<4
23. B<r— ¥ 24, —7T>20+¢
25. 2o=—4+a 26. z +4 = 2r
21 w—5 = 2w 28. 3y =2y — b

29. bx +5 = x 30. -9 + 2o < 3o



L o
A= 13)Find a point on a directed line segment on a number line that is a given fractional
T distance from the initial point. PG: 347
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14)Find a point that partitions a directed line segment on the coordinate plane in a given
ratio. PG: 354

Example 3
Solve each inequality. Then graph the sclution on a number line.

16. —3(/n + 3) < Bn 7. 21=230-7)+9
18. 2y +4 > 23 + ) 1. 32 —Db) < 10— 3{b—B6)

20.7+1s2(t+3)+2 21. Ba + 2[1 — 5a) < 20

Mixed Exercises
Solve each inequality. Check your solution.
2x = i)

22. 2ix — 4) < 2 + 3(x — 6) 23 F—" = Bx+2

24. 56z +15 < 2.5z —4.7 a25. 0.72m —5) = 217

26. 2(—3m — 5) = —28 27. —Blw + 1) < 2w+ 5)



*®

A 14)Find a point that partitions a directed line segment on the coordinate plane in a given
. ratio. PG: 354
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15)Solve systems of linear inequalitis by by graphing PG:363
Examples 1, 3, and 4

Solve each compound inequality. Then graph the solution set.

1. f—b6<bhamdlf—4 =2 2. n+2=<-—-5andn+6=—6

. y—1=Tory+3 < -1 4. t+14 =1%eort—9 < —10

5 —5<3p+T =22 6. 3=7c+4<1B

T 5h—4z6and7h + 11 < 32 B 2=24m—-2or5—3m=< —13
9. y+5229ar3y+4 < -5 0. do+13=29and 10 < ba — 14
N 3b+2<bb—-6<20+9 D 204+3z60—1>3c0—10
1. 0Om —T7 <17mor—6m > 36 M S5n—1<—1WBor—3n—1<8

5. mMm+3=5andm+3<7 . y—58<—d4ory—56 =21



Kp 15)Solve systems of linear inequalitis by by graphing PG:363
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